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Minimal sequence of changes for the larger instance (say, with 6 changes) must
include the minimal sequence of changes (5 changes) for the smaller instance. Why? If
there is a sequence with 4 or less changes, then those changes & M — C (1 change)
would yield a sequence with 5 or less changes for the larger instance.



Edit Distance

Dist(ALGORITHM, ALTRUISTIC) = ¢

Minimal sequence of changes for the larger instance (say, with 7 changes) must
include the minimal sequence of changes (5 changes) for the smaller instance. Why? If
there is a sequence with 4 or less changes, then those changes & M. — . C (2 changes)
would yield a sequence with 6 or less changes for the larger instance.
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Dist(ALGORITHM, ALTRUISTIC) = ¢
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Minimal sequence of changes for the larger instance (say, with 7 changes) must
include the minimal sequence of changes (5 changes) for the smaller instance. Why? If
there is a sequence with 4 or less changes, then those changes & .M — C. (2 changes)
would yield a sequence with 6 or less changes for the larger instance.



Edit Distance

Try all possibilities to convert M to C
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